
WARNING:Maximum fall height is 120 cm

37
00

4416

515
4



YL-A1 YL-A2

YL-A3 YL-A4 YL-A5 YL-A6

YL-A7 YL-A8 YL-B1

YL-B2 YL-B3 YL-B4



YL-C3

YL-C4 YL-C5 YL-C6

YL-D1 YL-D2 YL-D3

YL-C1 YL-C2



M5 M6 M8 M8 M10

DS1*4

M8*12

DS2*2

M10*12 M10 M10 M8

JG1*15 DP1*47 DP2*4

M5.5*25 M5.5*55

ZG1*8 ZG2*4

M10*100 M8*80

PZ1*20 PZ2*10

M10*30

M10*100

WL1*8
WL2*2

M8*20 M10*20

NL1*4 MH1*5

M10*25 M10*35

MH2*6 MH3*9

M10*40

MH4*2

M6*16 M6*35 M6*45 M6*50

LM*36 NL2*12 NL3*10 NL4*8 NL5*6

YL-S1

SL1*4



1

2

YL-A3

YL-A4

YL-C3

WL1
DP1

YL-B1

WL1*8
DP1*8
DS1*4

MH1*4
DP1*4
SL1*4
ZG1*8
ZG2*4

PZ1*12

DS1

PZ1

SL1

MH1

DP1

ZG1
ZG2

Warming: Please do not tighten the screws 100% during the installation process, otherwise
it will affect the subsequent position adjustment. After all the steps are installed, tighten the
screws.



3

4

JG1 DP1

YL-A8

PZ2

YL-C5

YL-A5

MH2*2
DP1*4
JG1*2
PZ2*6

MH2*2
DP1*4
JG1*2
NL3*4
NL5*2

YL-C4

MH2

LM

LM

NL2
NL5NL2

MH2

JG1

DP1

NL2*4
LM*10

NL3



5

6

YL-B3

YL-A6 YL-A7

MH2*2
DP1*4
JG1*2
NL4*4
LM*10

YL-C5LM

NL3

MH3

DP1

JG1

MH3*3
DP1*6
JG1*3
NL3*4
LM*6

YL-C6

YL-C1
YL-C5

MH2

DP1

JG1

LM

NL4

NL5*2
NL2*4

NL1
DP2 LM

NL1*2
DP2*2

NL4
NL4*2



7

8

YL-B4

YL-C2

YL-B2

YL-C6

NL1
DP2

LM

MH3*2
DP1*4
JG1*2

LM*2
NL1*2
DP2*2

NL4

NL4*2

MH3DP1

JG1



9

10

MH1*1
DP1*9
JG1*4
MH4*2
WL2*2
PZ2*4

MH3*4
DP1*4

MH4

DP1JG1

DP1MH1

WL2

DP1

JG1

MH3

DP1

PZ2



11

12

YL-A1

YL-A2

YL-D3

YL-D2

PZ1*8
DS2*2
NL3*2
NL2*4
NL5*2

PZ1

DS2

YL-C5

YL-C4

LM

LM

NL5NL2
NL3

LM*8

YL-D1








